(VCO, ML acid - VCO, ML non acid) / VCO, ML non acid *100

Supplemental Digital Content 2

0.60 - R%?=0.575

0.55
0.50
0.45 A
0.40

0.35 4

0.30 4

0.25 4 L

0.20 T T T T
0.3 04 0.5 0.6

(PCO, acid - PCO, non acid) / PCO, non acid *100

Fig. 1. Relationship between the percentage difference in PCO, of the post-dialyzer blood with and without
acidification and VCO, ML, with and without acidification, at Baseline I_A, 1 h|1_A, 24 h|_A, Baseline I1I_A,
24 h 11_A, baseline I11_A.

PCO2 = carbon dioxide partial pressure; VCO,ML = amount of carbon dioxide removed by the membrane

lung (ml/min).



